PHY 554. Homework 3.

(a) The closed orbit of a three-bump system is

$$y(s) = \frac{\sqrt{\beta}}{2\sin\pi\nu} \sum_{i=1}^{3} \sqrt{\beta_i} \theta_i \cos(\pi\nu - |\psi - \psi_i|).$$

Using the condition $y(s_3) = y'(s_3) = 0$, Then

$$\begin{cases} \sqrt{\beta_1}\theta_1 \cos(\pi\nu + \psi_{13}) + \sqrt{\beta_2}\theta_2 \cos(\pi\nu + \psi_{23}) + \sqrt{\beta_3}\theta_3 \cos\pi\nu = 0\\ \sqrt{\beta_1}\theta_1 \sin(\pi\nu + \psi_{13}) + \sqrt{\beta_2}\theta_2 \sin(\pi\nu + \psi_{23}) + \sqrt{\beta_3}\theta_3 \sin\pi\nu = 0 \end{cases}$$

where $\psi_{13} = \psi_1 - \psi_3$ and $\psi_{23} = \psi_2 - \psi_3$, we find

$$\theta_2 = -\theta_1 \sqrt{\frac{\beta_1}{\beta_2}} \frac{\sin \psi_{13}}{\sin \psi_{23}}, \qquad \theta_3 = \theta_1 \sqrt{\frac{\beta_1}{\beta_3}} \frac{\sin \psi_{12}}{\sin \psi_{23}}.$$

(b) When $\psi_{31} = n\pi$, we find $\theta_2 = 0$, i.e. only two steering dipoles are needed for a local bump. Since $\psi_{32} = \psi_{31} - \psi_{21} = n\pi - \psi_{21}$, we have $\sin \psi_{32} = (-1)^{n-1} \sin \psi_{31}$, and $\theta_3 = (-1)^{n-1} \sqrt{\beta_1/\beta_2} \theta_1$.

er matrix is $M = \begin{pmatrix} 1 & 0 & 0 \\ -\frac{1}{2}f & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & L_{1}L & L_{0}/2 + L_{1}0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}$ $= \begin{pmatrix} 1 & L_{1}+L & L_{0}/2 + L_{1}0 \\ -\frac{1}{2f} & -\frac{1}{2f} - \frac{1}{2f} + 1 & -\frac{1}{2f} (L_{0}/2 + L_{1}0) + 0 \\ 0 & 0 & 1 \end{pmatrix}$ $D_o = D_o' = o \Rightarrow$ initial $\begin{pmatrix} D_{c} \\ D_{c}' \\ I \end{pmatrix} = M\begin{pmatrix} 0 \\ 0 \\ I \end{pmatrix} = \begin{pmatrix} L\theta/2 + L_{1}\theta \\ -\frac{1}{2f}(L\theta/2 + L_{1}\theta) + \theta \\ I \end{pmatrix}$ $\frac{D_c = (L/2 + L_1)\theta}{D_c' = \theta \left(1 - \frac{1}{2f} \left(L/2 + L_1\right)\right) = 0}$ $\Rightarrow \int f = \frac{L_1'}{2} + \frac{L_1'}{4}$

+1

#2
a)
$$D = A \log IFS + b SinIFS + \frac{1}{pK}$$

 $\Rightarrow D'' = - AK GAFS - bK SinIFS$
S0 $D'' + KD = \frac{1}{pK} \cdot K = \frac{1}{p}$ satisfies the condition.
At S=0. $D_0 = A + \frac{1}{pK}$ $D_0' = bIK$ e
thus $a = D_0 - \frac{1}{pK}$ $b = \frac{D_0'}{JK}$
 $\Rightarrow D = (D_0 - \frac{1}{pC}) \cos IFS + \frac{D_1'}{IK} S.nIFS + \frac{1}{pK} (1 - \log IFS))$
 $D' = -D_0 IF SinIFS + D_0' (Aa(FS) + \frac{1}{pK} SinIFS))$
 $D' = -D_0 IF SinIFS + D_0' (Aa(FS) + \frac{1}{pK} SinIFS))$
 $D' = -D_0 IF SinIFS + D_0' (Aa(FS) + \frac{1}{pK} SinIFS))$
 $Hus MI Can be expressed as$
 $M = \begin{pmatrix} CoFFS & \frac{1}{K} SinIFS & \frac{1}{pK} (1 - CoFFS) \\ -\frac{1}{FSinIFS} & Ga(FFS) & \frac{1}{pK} SinIFS \\ 0 & 0 & 1 \end{pmatrix}$
b) for $K < 0$ substitute $K = -K$ in above matrix
and use $CGIA = CohA$ $SinIA = i SinhA$
 $Can Easily show that
 $M = \begin{pmatrix} Cosh_J IFTS & \frac{1}{ME} SinIFTS & \frac{1}{p(IFE} SinIFTS) \\ \sqrt{IFT} SinIFTS & \frac{1}{ME} SinIFTS & \frac{1}{p(IFE} SinIFTS) \\ \sqrt{IFT} SinIFTS & CohIFTS & \frac{1}{p(IFE} SinIFTS) \end{pmatrix}$$

....

proof, Wait = WishA SiniA = 2 SinhA. We know $G_{3X} = \frac{e^{iX} + e^{-iX}}{2}$ $SinX = \frac{e^{iX} - e^{-iX}}{2i}$ $= \int G_{vi}(A) = \frac{e^{-A} + e^{A}}{2i} = G_{vi}(A)$ Sini(A) = $\frac{e^{-A} - e^{A}}{2i} = -i\frac{e^{-A} - e^{A}}{2} = i\frac{e^{-A} - e^{-A}}{2} = i\frac{e^{-A$ 9. Z.d (c) for pure dipole $K = \frac{1}{p^2} \implies D'' + \frac{1}{p^2} D = \frac{1}{p}$ thus we can write where $Q = \frac{3}{p}$. D = a Goso + b Sino + P(1 - Goso) $D' = -\frac{\alpha}{p} \sin \theta + \frac{\beta}{p} \cos \theta + \sin \theta$ $D'' = -\frac{2}{p^2} \cos \frac{1}{10} \frac{b^2}{p^2} \sin \theta + \frac{1}{p} \cos \theta$ $D'' + \frac{1}{p}D = \frac{1}{p}b_{10} + \frac{1}{p}(1 - a_{10}) = \frac{1}{p}$ when S=0=0 $D=D_0 = Q$ S a=D $D' = Db' = \frac{b}{p} \implies \int b = p \cdot Db'$ $\Rightarrow D = D_0 G_{350} + P D_0 G_{100} + P (1-6.50)$ $D' = -\frac{D_0}{p}Sino + D_0' Coso + Sino$ $=) M = \begin{pmatrix} G_{05}\theta & P.Sin\theta & P(1-G_{0}) \\ -\frac{1}{p}Sin\theta & G_{05}\theta & Sin\theta \\ 0 & 0 & 1 \end{pmatrix}$ only dipoles D.D. d) using $s \rightarrow o$ and ks = f we can show Mand = $\begin{pmatrix} 1 & 0 & i \\ -\frac{1}{4} & i \\ 0 & -\frac{1}{4} \end{pmatrix}$ and $p = L \implies M d p = \begin{pmatrix} 1 & L & 1 & 0 \\ 0 & 1 & 0 \\ 0 & 2 & 1 \end{pmatrix}$

0